BH4EE 110 D1V —-NyIXIFPNELE/NU —HR—)LRAR

[(R&#ER]

=

HAM4EF1 2838 (1) 800~EEEAE, 1800 FT (£ 16:3086)

ShF—A RRER BIXER, BKER BXBFER PRAKER BEXER FRXER1S, PRXER2S, AKER 29F-A

ADJ—k (TAYR-IL)

BId—k (AYMR—IL)

C3—k (EAYMR—IL)

= AR BB TR T
B 21-18 8-21 219 821 91-15 9145
T 219 2112 2110 2+ 219 2140
T 51 50
Z
PRXER 2114 RXER FRXERT1S 11-21 IR XER SEXEKR2S 210 B XER
21-16 21-10 2116
b4
. PRXER RXER
= 2115 ARl 20-21 2114 21-18
g 21-18 20-21 2112 2112 21-6
é - 5
MRBFRK HERRER AR FXER SEXERIS (-1 BBRER
21-18 21-16
YUHN=F (A /= F) EFAAIN—F QCFI/N—=F) EZdF/\—F Bi/N—F)
B ERXER2S ImXER RXER
XERRS XS FER PRXER BB XER
BEE FAXER FAXER BEREXEKRT S

R4.129 R
1% BEHRGIEREEX( VP -T (O-3EER)




